Converting Between mm, cm, m and km (A)

Name: Date: Score: /10

10.

Complete each conversion. Symbols for copying and pasting: X + 2 3.

Base
g g ¢ § gl ig 2z :
B E T & 39 135 8 E E z
: : : : : :E: : : : : : : : —p X
G M k h dai id ¢ m 2 n
9 8 7 6 5 4 3 2 1:0: 2 3 4 -5 -6 -7 8 9

Convert 48,720,000 cm to km

Convert 0.0000056 km to mm

Convert 54 cm to mm

Convert 17,000 mm to cm

Convert 940,000 m to km

Convert 7070 mm to m

Convert 11.52km tom

Convert 4.812m to cm

Convert 0.0096 m to cm

Convert 1,017,000 mm to m
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Converting Between mm, cm, m and km (A) Answers

Name: Date: Score: /10

10.

Complete each conversion. Symbols for copying and pasting: X + 2 3.

Base
o] o : : — o— e
5 % o 5§ §: g EE 3 z
"Bh S Z =2 wi: +o 8 E £ &
: : - : : —» X
G M k h da: i1d ¢ m [ n
9 8 7 6 5 4 3 2 1:+0:i-1 -2 -3 4 -5 -6 -7 -8 -9
Convert 48,720,000 cm to km

48,720,000cm - 10 =10+ 10+ 10+ 10 = 487.2km
Convert 0.0000056 km to mm

0.0000056 km X 10 X 10 X 10 X 10 X 10 X 10 = 5.6 mm
Convert 54 cm to mm

54cm X 10 = 540 mm

Convert 17,000 mm to cm

17,000 mm <+ 10 = 1700 cm

Convert 940,000 m to km

940,000m - 10 =10+ 10 = 940 km

Convert 7070 mm to m

7070mm - 10+ 10+ 10 =7.07m

Convert 11.52km to m

11.52km X 10 X 10 X 10 = 11,520 m

Convert 4.812m to cm

4.812m X 10 X 10 = 481.2cm

Convert 0.0096 m to cm

0.0096 m X 10 X 10 = 0.96 cm

Convert 1,017,000 mm to m

1,017,000 mm - 10+ 10+ 10 = 1017 m
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Converting Between mm, cm, m and km (B)

Name: Date: Score: /10

10.

Complete each conversion. Symbols for copying and pasting: X + 2 3.

Base
g g ¢ § gl ig 2z :
B g T & 39 135 8 E E z
: : : : : :E: : : : : : : : —p X
G M k h dai !d ¢ m 2 n
9 8 7 6 5 4 3 2 1:0: 2 3 4 -5 -6 -7 8 9

Convert 74,000,000 cm to km

Convert 2500 cm to m

Convert 880 m to km

Convert 428,000cm to m

Convert 970 cm to mm

Convert 0.08455 km to mm

Convert 71.5cm to mm

Convert 0.88 km to m

Convert 41,690 mm to m

Convert 0.329 m to mm
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Converting Between mm, cm, m and km (B) Answers

Name: Date: Score: /10

10.

Complete each conversion. Symbols for copying and pasting: X + 2 3.

Base
5 v 2§35 i3 %% 2
B E T 2 5 135 8 E E &
: : - : : —» X
G M k h da: i1d ¢ m [ n
9 8 7 6 5 4 3 2 1505—1 2 3 4 5 6 -7 -8 9

Convert 74,000,000 cm to km

74,000,000cm - 10 +-10+10+10+10 = 740km
Convert 2500 cm to m

2500cm +- 10+ 10 =25m

Convert 880 m to km

880m =+ 10 + 10 + 10 = 0.88 km

Convert 428,000 cm to m

428,000cm - 10 =10 =4280m

Convert 970 cm to mm

970 cm X 10 = 9700 mm

Convert 0.08455 km to mm

0.08455km X 10 X 10 X 10 X 10 X 10 X 10 = 84,550 mm
Convert 71.5cm to mm

71.5cm X 10 = 715 mm

Convert 0.88 km to m

0.88km X 10 X 10 X 10 = 880 m

Convert 41,690 mm to m

41,690 mm - 10+ 10+ 10 =41.69m

Convert 0.329 m to mm

0.329m X 10 X 10 X 10 = 329 mm
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Converting Between mm, cm, m and km (C)

Name: Date: Score: /10

10.

Complete each conversion. Symbols for copying and pasting: X + 2 3.

Base
: : — : : : > X
G M k h dai 'd ¢ m [ n
9876543215-5)"512—345—6789
Convert 84,200 cm to m
Convert 5780 cm to mm
Convert 652,000 cm to m
Convert 0.00246 km to m
Convert 4,770,000 mm to m
Convert 0.084 cm to mm
Convert 0.000061 km to cm
Convert 0.0612 km to m
Convert 74,400 mm to m

Convert 73,800,000 mm to km

Math-Drills.com




Converting Between mm, cm, m and km (C) Answers

Name: Date: Score: /10

10.

Complete each conversion. Symbols for copying and pasting: X + 2 3.

Base

centi
+ milli
1 nano

> X

o. + deci

=

w = 1 kilo
(@]
=

N 5 T hecto
~ & T deca

& = T micro

1
—_
\9)

1
w
N

1
(92}
~

1
co
O

Convert 84,200 cm to m

84,200cm =-10+10=842m

Convert 5780 cm to mm

5780cm X 10 = 57,800 mm

Convert 652,000 cm to m

652,000cm = 10 + 10 = 6520 m

Convert 0.00246 km to m

0.00246km X 10 X 10 X 10 = 2.46 m

Convert 4,770,000 mm to m

4,770,000mm = 10 - 10+ 10 =4770m
Convert 0.084 cm to mm

0.084cm X 10 = 0.84 mm

Convert 0.000061 km to cm

0.000061 km X 10 X 10 X 10 X 10 X 10 = 6.1 cm
Convert 0.0612 km to m

0.0612km X 10 X 10 X 10 = 61.2m

Convert 74,400 mm to m

74,400mm - 10 +-10+10 =74.4m

Convert 73,800,000 mm to km

73,800,000 mm =10 +-10+10+10+ 10+ 10 = 73.8km
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Converting Between mm, cm, m and km (D)

Name: Date: Score: /10

10.

Complete each conversion. Symbols for copying and pasting: X + 2 3.

Base
5 & 8 g ig § £ 5 2
=) £ T 2 5 19 8 E £ g
: : - : : > X
G M k h da: 'd ¢ m M n
9 8 7 6 5 4 3 2 1:0: 2 3 4 -5 -6 -7 8 9

. Convert 5.7 m to mm

Convert 3,790,000 m to km

Convert 66,800 cm to m

Convert 7.6 mm to cm

Convert 26,600,000 mm to km

Convert 0.87 km to m

Convert 0.0327 m to mm

Convert 87 m to cm

Convert 0.0000044 km to cm

Convert 595 mm to cm
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Converting Between mm, cm, m and km (D) Answers

Name: Date: Score: /10

10.

Complete each conversion. Symbols for copying and pasting: X + 2 3.

Base
5 v 2§35 i3 %% 2
& E T 2 5 135 8 E E z
: : - : : —» X
G M k h da: 'd ¢ m M n
9 8 7 6 5 4 3 2 1505—1 2 3 4 5 6 -7 -8 9

. Convert 5.7 m to mm

57m X 10 X 10 X 10 = 5700 mm

Convert 3,790,000 m to km

3,790,000m + 10 + 10 + 10 = 3790 km

Convert 66,800 cm to m

66,800cm = 10 + 10 = 668 m

Convert 7.6 mm to cm

7.6mm =+ 10 = 0.76 cm

Convert 26,600,000 mm to km
26,600,000mm =~ 10+-10+10+10+10+ 10 = 26.6 km
Convert 0.87 km to m

0.87km X 10 X 10 X 10 = 870 m

Convert 0.0327 m to mm

0.0327m X 10 X 10 X 10 = 32.7 mm

Convert 87 m to cm

87m X 10 X 10 = 8700 cm

Convert 0.0000044 km to cm

0.0000044km X 10 X 10 X 10 X 10 X 10 = 0.44cm
Convert 595 mm to cm

595mm + 10 = 59.5cm
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Converting Between mm, cm, m and km (E)

Name: Date: Score: /10

10.

Complete each conversion. Symbols for copying and pasting: X + 2 3.

Base
< o . ! e o
Y oy 2 38 § 13 & 2 5 s
B S Z =2 wi: +o 8 E S S
: : ———————— : : > X
G M k h da: i1d ¢ m M n
9 8 7 6 5 4 3 2 1:0. 2 3 -4 -5 6 -7 -8 -9
. Convert 6.849 m to mm
Convert 32,430,000 m to km

Convert 51.74 cm to mm

Convert 3,180,000,000 cm to km

Convert 0.0518 m to mm

Convert 666 cm to m

Convert 39,960,000 mm to km

Convert 80.81 km to m

Convert 257,500 cm to m

Convert 9.73 cm to mm
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Converting Between mm, cm, m and km (E) Answers

Name: Date: Score: /10

10.

Complete each conversion. Symbols for copying and pasting: X + 2 3.

Base
5 v 2§35 i3 %% 2
& E T 2 5 135 8 E E z
: : - : : —» X
G M k h da: i1d ¢ m [ n
9 8 7 6 5 4 3 2 1505—1 2 3 4 5 6 -7 -8 9

. Convert 6.849 m to mm

6.849m X 10 X 10 X 10 = 6849 mm

Convert 32,430,000 m to km

32,430,000m =+ 10 =10 +- 10 = 32,430 km

Convert 51.74 cm to mm

51.74cm X 10 = 517.4 mm

Convert 3,180,000,000 cm to km

3,180,000,000cm <+ 10 =10 - 10 =10 = 10 = 31,800 km
Convert 0.0518 m to mm

0.0518 m X 10 X 10 X 10 = 51.8 mm

Convert 666 cm to m

666cm =+ 10+ 10 = 6.66 m

Convert 39,960,000 mm to km

39,960,000 mm <+ 10 - 10 +- 10 +-10 - 10 = 10 = 39.96 km
Convert 80.81 km to m

80.81km X 10 X 10 X 10 = 80,810 m

Convert 257,500 cm to m

257,500cm =10 =10 = 2575 m

Convert 9.73 cm to mm

9.73cm X 10 = 97.3 mm
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Converting Between mm, cm, m and km (F)

Name: Date: Score: /10

10.

Complete each conversion. Symbols for copying and pasting: X + 2 3.

Base
[a+] o : — — e
g, 2 2 38 § 13 & 2 5 s
B S Z =2 wi: +o 8 E S S
} } } } } } T } } } } } } } } } }X
G M k h da! *d ¢ m M n
9 8 7 6 5 4 3 2 1:i0] 2 3 4 -5 6 -7 -8 -9
. Convert 3430 cm to mm
Convert 0.00135 km to mm

Convert 60,700 m to km

Convert 6,810,000 m to km

Convert 17.12m to mm

Convert 72,000 mm to cm

Convert 75,970,000 cm to m

Convert 9,200,000 mm to m

Convert 0.0916 m to cm

Convert 2.386 km to cm
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Converting Between mm, cm, m and km (F) Answers

Name: Date: Score: /10

10.

Complete each conversion. Symbols for copying and pasting: X + 2 3.

Base
o] o : : — o— e
5 2 e g 8 19 £ 2 > s
"Bh S Z =2 wi: +o 8 E £ &
: : - : : —p X
G M k h da: i1d ¢ m [ n
9 8 7 6 5 4 3 2 1:+0:i-1 -2 -3 4 -5 -6 -7 -8 -9
. Convert 3430 cm to mm

3430cm X 10 = 34,300 mm

Convert 0.00135 km to mm
0.00135km X 10 X 10 X 10 X 10 X 10 X 10 = 1350 mm
Convert 60,700 m to km

60,700m =~ 10 =10 - 10 = 60.7km
Convert 6,810,000 m to km
6,810,000m = 10 +- 10 = 10 = 6810 km
Convert 17.12 m to mm

17.12m X 10X 10 X 10 = 17,120 mm
Convert 72,000 mm to cm

72,000 mm = 10 = 7200 cm

Convert 75,970,000 cm to m
75,970,000cm =+ 10 = 10 = 759,700 m
Convert 9,200,000 mm to m
9,200,000 mm = 10 =+ 10 + 10 = 9200 m
Convert 0.0916 m to cm

0.0916 m X 10 X 10 = 9.16 cm

Convert 2.386 km to cm
2.386km X 10 X 10 X 10 X 10 X 10 = 238,600 cm
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Converting Between mm, cm, m and km (G)

Name: Date: Score: /10

10.

Complete each conversion. Symbols for copying and pasting: X + 2 3.

Base
. ' — o
5 & c 5 g ‘g E £ > s
B S 2 & w' 15 8 E S S
: : - : : > X
G M k h da: 'd ¢ m M n
9 8 7 6 5 4 3 2 15051 2 3 4 5 -6 -7 -8 -9

Convert 15,350 mm to m

Convert 0.558 m to cm

Convert 696,700 mm to cm

Convert 97,000 m to km

Convert 0.735km to m

Convert 440,000,000 cm to km

Convert 0.085m to cm

Convert 951.3 mm to cm

Convert 0.0005351 km to mm

Convert 0.0484 m to mm
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Converting Between mm, cm, m and km (G) Answers

Name: Date: Score: /10

10.

Complete each conversion. Symbols for copying and pasting: X + 2 3.

Base
5 v 2§35 i3 %% 2
& E T 2 5 135 8 E E z
: : - : : —» X
G M k h da: i1d ¢ m [ n
9 8 7 6 5 4 3 2 1505—1 2 3 4 5 6 -7 -8 9

Convert 15,350 mm to m

15,350 mm - 10+ 10+ 10 =15.35m

Convert 0.558 m to cm

0.558m X 10 X 10 = 55.8cm

Convert 696,700 mm to cm

696,700 mm =+ 10 = 69,670 cm

Convert 97,000 m to km

97,000m =+ 10 =10 +- 10 = 97km

Convert 0.735km to m

0.735km X 10 X 10 X 10 = 735m

Convert 440,000,000 cm to km

440,000,000cm = 10 =10 =10 + 10 = 10 = 4400 km
Convert 0.085m to cm

0.085m X 10X 10 =8.5cm

Convert 951.3 mm to cm

951.3mm =+ 10 = 95.13cm

Convert 0.0005351 km to mm

0.0005351km X 10 X 10 X 10 X 10 X 10 X 10 = 535.1 mm
Convert 0.0484 m to mm

0.0484m X 10 X 10 X 10 = 48.4 mm
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Converting Between mm, cm, m and km (H)

Name: Date: Score: /10

10.

Complete each conversion. Symbols for copying and pasting: X + 2 3.

Base
< o . ! o e o
s Ty 2 38 § 13 & 2 3 s
B S Z =2 wi: +o 8 E S S
: : ———————— : : > X
G M k h da: i1d ¢ m M n
9 8 7 6 5 4 3 2 1:+0:i-1 -2 -3 4 -5 -6 -7 -8 -9
. Convert 25cm tom
Convert 9,020,000 m to km

Convert 0.0000836 km to cm

Convert 124,000 mm to m

Convert 0.012km to m

Convert 30,430,000 mm to m

Convert 83.53 cm to mm

Convert 57,910,000 cm to m

Convert 0.84 cm to mm

Convert 0.0000438 km to mm
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Converting Between mm, cm, m and km (H) Answers

Name: Date: Score: /10

10.

Complete each conversion. Symbols for copying and pasting: X + 2 3.

Base
5 v 2§35 i3 %% 2
& E T 2 5 135 8 E E z
: : - : : —» X
G M k h da: 'd ¢ m M n
9 8 7 6 5 4 3 2 1505—1 2 3 4 5 6 -7 -8 9

. Convert 25cm to m

25cm+10+10=0.25m

Convert 9,020,000 m to km

9,020,000m = 10 + 10 = 10 = 9020 km

Convert 0.0000836 km to cm

0.0000836km X 10 X 10 X 10 X 10 X 10 = 8.36 cm
Convert 124,000 mm to m

124,000mm =10 +-10+10=124m

Convert 0.012km to m

0.012km x 10X 10X 10 = 12m

Convert 30,430,000 mm to m

30,430,000 mm =10+ 10+ 10 = 30,430 m
Convert 83.53 cm to mm

83.53¢cm X 10 = 835.3 mm

Convert 57,910,000 cm to m

57,910,000cm =+ 10 = 10 = 579,100 m

Convert 0.84 cm to mm

0.84cm X 10 = 8.4mm

Convert 0.0000438 km to mm

0.0000438 km X 10 X 10 X 10 X 10 X 10 X 10 = 43.8 mm
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Converting Between mm, cm, m and km (I)

Name: Date: Score: /10

10.

Complete each conversion. Symbols for copying and pasting: X + 2 3.

Base
a5} o : — o— o
) g s 5 §i 19 § 2 3 £
B S Z =2 wi: +o 8 E S S
} } } } } } T } } } } } } } } } }X
G M k h da: 'd ¢ m M n
9 8 7 6 5 4 3 2 1:i0] 2 3 4 5 6 -7 -8 9
Convert 30,900,000 m to km

Convert 15,000 mm to cm

Convert 31,000 cm to m

Convert 66.33 m to mm

Convert 2.8 mm to cm

Convert 0.0007292 km to mm

Convert 0.0637 m to mm

Convert 0.066 m to cm

Convert 246,500,000 cm to km

Convert 93.94km to m
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Converting Between mm, cm, m and km (I) Answers

Name: Date: Score: /10

10.

Complete each conversion. Symbols for copying and pasting: X + 2 3.

Base
o] o : : — o— e
) 2 e 8 81 13 £ E S s
"Bh S Z =2 wi: +o 8 E £ &
: : - : : —» X
G M k h da: i1d ¢ m [ n
9 8 7 6 5 4 3 2 1:+0:i-1 -2 -3 4 -5 -6 -7 -8 -9
Convert 30,900,000 m to km

30,900,000 m + 10 =10 + 10 = 30,900 km

Convert 15,000 mm to cm

15,000 mm <+ 10 = 1500 cm

Convert 31,000 cm to m

31,000cm +-10+10=310m

Convert 66.33 m to mm

66.33m X 10 X 10 X 10 = 66,330 mm

Convert 2.8 mm to cm

2.8mm + 10 = 0.28cm

Convert 0.0007292 km to mm

0.0007292km X 10 X 10 X 10 X 10 X 10 X 10 = 729.2 mm
Convert 0.0637 m to mm

0.0637m X 10 X 10 X 10 = 63.7 mm

Convert 0.066 m to cm

0.066 m X 10 X 10 = 6.6 cm

Convert 246,500,000 cm to km

246,500,000cm =10 +- 10 =10 - 10 = 10 = 2465 km
Convert 93.94 km to m

93.94km X 10 X 10 X 10 = 93,940 m
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Converting Between mm, cm, m and km (J)

Name: Date: Score: /10

10.

Complete each conversion. Symbols for copying and pasting: X + 2 3.

Base
a5} o : — o— o
Y oy 2 38 § 13 & 2 5 s
B S Z =2 wi: +o 8 E S S
} } } } } } T } } } } } } } } } }X
G M k h da! 'd ¢ m i n
9 8 7 6 5 4 3 2 1:i0] 2 3 4 5 6 -7 -8 -9
Convert 690,000 cm to km

Convert 14 m to cm

Convert 0.0838 km to m

Convert 86,360,000 cm to m

Convert 26,360 m to km

Convert 6280 cm to mm

Convert 0.6241 m to mm

Convert 772,000 mm to cm

Convert 0.4957 km to mm

Convert 57,540,000 mm to m

Math-Drills.com




Converting Between mm, cm, m and km (J) Answers

Name: Date: Score: /10

10.

Complete each conversion. Symbols for copying and pasting: X + 2 3.

Base
o] o : : — o— e
5 % o 5§ §: g EE 3 z
"Bh S Z =2 wi: +o 8 E £ &
: : - : : —» X
G M k h da: i1d ¢ m M n
9 8 7 6 5 4 3 2 1:+0:i-1 -2 -3 4 -5 -6 -7 -8 -9
Convert 690,000 cm to km

690,000cm - 10+-10+10+10+10 =6.9km
Convert 14 m to cm

14m X 10 X 10 = 1400cm

Convert 0.0838 km to m

0.0838 km X 10 X 10 X 10 = 83.8 m

Convert 86,360,000 cm to m

86,360,000cm = 10 = 10 = 863,600 m
Convert 26,360 m to km

26,360m +~ 10 - 10 = 10 = 26.36 km

Convert 6280 cm to mm

6280cm X 10 = 62,800 mm

Convert 0.6241 m to mm

0.6241 m X 10 X 10 X 10 = 624.1 mm

Convert 772,000 mm to cm

772,000 mm -+ 10 = 77,200 cm

Convert 0.4957 km to mm

0.4957km X 10 X 10 X 10 X 10 X 10 X 10 = 495,700 mm
Convert 57,540,000 mm to m

57,540,000 mm = 10 =+ 10 - 10 = 57,540 m

Math-Drills.com




	studentA: 
	dateA: 
	scoreA: 
	A1: 
	A2: 
	A3: 
	A4: 
	A5: 
	A6: 
	A7: 
	A8: 
	A9: 
	A10: 
	studentAA: 
	dateAA: 
	scoreAA: 
	studentB: 
	dateB: 
	scoreB: 
	B1: 
	B2: 
	B3: 
	B4: 
	B5: 
	B6: 
	B7: 
	B8: 
	B9: 
	B10: 
	studentBB: 
	dateBB: 
	scoreBB: 
	studentC: 
	dateC: 
	scoreC: 
	C1: 
	C2: 
	C3: 
	C4: 
	C5: 
	C6: 
	C7: 
	C8: 
	C9: 
	C10: 
	studentCC: 
	dateCC: 
	scoreCC: 
	studentD: 
	dateD: 
	scoreD: 
	D1: 
	D2: 
	D3: 
	D4: 
	D5: 
	D6: 
	D7: 
	D8: 
	D9: 
	D10: 
	studentDD: 
	dateDD: 
	scoreDD: 
	studentE: 
	dateE: 
	scoreE: 
	E1: 
	E2: 
	E3: 
	E4: 
	E5: 
	E6: 
	E7: 
	E8: 
	E9: 
	E10: 
	studentEE: 
	dateEE: 
	scoreEE: 
	studentF: 
	dateF: 
	scoreF: 
	F1: 
	F2: 
	F3: 
	F4: 
	F5: 
	F6: 
	F7: 
	F8: 
	F9: 
	F10: 
	studentFF: 
	dateFF: 
	scoreFF: 
	studentG: 
	dateG: 
	scoreG: 
	G1: 
	G2: 
	G3: 
	G4: 
	G5: 
	G6: 
	G7: 
	G8: 
	G9: 
	G10: 
	studentGG: 
	dateGG: 
	scoreGG: 
	studentH: 
	dateH: 
	scoreH: 
	H1: 
	H2: 
	H3: 
	H4: 
	H5: 
	H6: 
	H7: 
	H8: 
	H9: 
	H10: 
	studentHH: 
	dateHH: 
	scoreHH: 
	studentI: 
	dateI: 
	scoreI: 
	I1: 
	I2: 
	I3: 
	I4: 
	I5: 
	I6: 
	I7: 
	I8: 
	I9: 
	I10: 
	studentII: 
	dateII: 
	scoreII: 
	studentJ: 
	dateJ: 
	scoreJ: 
	J1: 
	J2: 
	J3: 
	J4: 
	J5: 
	J6: 
	J7: 
	J8: 
	J9: 
	J10: 
	studentJJ: 
	dateJJ: 
	scoreJJ: 


